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Question Number : 1 Question Id : 630680161913 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

The ‘SwasthGarbh' mobile app for pregnant women launched in 2022, has been developed by the Indian Institute of Technology (IIT)
, in collaboration with the All India Institute of Medical Sciences (AIIMS), New Delhi.

Options :

1. ¥ Roorkee
2. % Delhi

3. % Bombay
4. % Madras

Question Number : 1 Question Id : 630680161913 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

2022 A9, TR g mad Reaiard! g sruard sied diersd 3f4, 3iia fear 3fRecye i Adiahd A= (AIIMS) =T
eI YR Wi T=T (3mg3mdh) R faofid Hvarg o armg.

Options :

1. ¢ TP
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2. % et
3. % gas‘

4. % HaH

Question Number : 2 Question Id : 630680161914 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following states was ranked as the best-governed state among the big states, in the Public Affairs Index-2022 (PAI-2022)
released by Bengaluru-based Public Affairs Centre (PAC)?

Options :

1. ¥ Haryana

2. % Karnataka

3. % Andhra Pradesh
4. % Himachal Pradesh

Question Number : 2 Question Id : 630680161914 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

TTE fd ufsTes e Yer (PAC) A UHIRIG el Ufsiids b3 SaI-2022 (PAI-2022) TIR HIGHT ITide @relt
frAeaTtes) B0 I ISP R X0 WU SHeTd 3 81

Options :

1. ¢ gharon

2. % m

3. % 3T U

4. % %Wm

Question Number : 3 Question Id : 630680161915 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Who among the following became the first Indian player to get elected in the Athletes’ Commission of the International Table Tennis
Federation (ITTF) in November 2022?

Options :

1. ¥ Manika Batra

2. % Sathiyan Gnanasekaran
3. % Achanta Sharath Kamal
4. % Neha Aggarwal

Question Number : 3 Question Id : 630680161915 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Gl fEAemis! HIvT, AR 2022 AL, SRS <ol ¢ -4 HENar=Al Sfufere IR (ITTF) Fag siieren gfge YR
TS g oxdll?

Options :

1. % HI0IG &1

2. % TG FERRERA
3. ¢ 3[HAdI WS HHA
4. % =gl 3uard

Question Number : 4 Question Id : 630680161916 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
What was the result of the Treaty of Sugauli between Nepal and British India?
Options :
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1. % Nepal was recognised as a fully sovereign state.
2. % Districts of western terai were returned to Nepal.
3. % The Gurkhas’ service in the British army officially started.
4. % No Customs duty would be levied at British Indian ports on goods imported on behalf of the Nepal Government.

Question Number : 4 Question Id : 630680161916 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Aures ATFOT fydter HR Tieamaed Freied Jeel HRRIGH S e ra gia?

Options :

1. % STl U IRyl SdHIH IT U 3N YT el gidl.

2. % U RIS foleg AUTS @ URd fHesTa.

3. ¢ T3 S=aTd TR S AT THITAY HRUATd ST,

4. % SIS IRBRAT I STATA SIOMAT HIATER IS 1= HRATT SeR16R STebld HTHRUTN §G HRUATT ST gial.

Question Number : 5 Question Id : 630680161917 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

‘Tuhfat-ul Muwahhidin’ was the first philosophical work of which of the following social reformers?
Options :

1. % Debendranath Tagore

2. % Ram Mohan Roy

3. # Ishwarchandra Vidyasagar

4. & Rabindranath Tagore

Question Number : 5 Question Id : 630680161917 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

“JEWTA-3d Halfed -’ § Ufed daeTetes feraTor Wielieriert b IureT THTSl JURSBMH dl gl
Options :

1. % QA=Y TR

2. ¢ (BT

3. % SYREG [GIRNR

4. % IfdETY TR

Question Number : 6 Question Id : 630680161918 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which temple is located at the place where Siddhartha Gautama transitioned from ‘the Bodhisattva to the Buddha’?
Options :

1. % The Mahabodhi Temple

2. % Bagan Temple

3. % Ramabhar Stupa Temple

4. % Mahaparinirvana Temple

Question Number : 6 Question Id : 630680161918 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Rygrd My § “SefimaraT d gara aRadid Saedr RIMTER S0 HieR 3g?

Options :

1. ¢ Hgraeh TR
2. % SH AR
3. % W WU AR
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4. % TETARfET dfeR

Question Number : 7 Question Id : 630680161919 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the states listed below is associated with ‘Burrakatha’, a ballad in which singers mostly recite mythological stories?
Options :

1. % Kerala

2. & Tamil Nadu

3. ¥ Andhra Pradesh

4. & Odisha

Question Number : 7 Question Id : 630680161919 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
TS ST URTIOTES S e aToRdId &1 <SRIGUT a1 UraTedTRit WTe fadiedn Isaite! Hio T Jafdd 3Mg?

Options :

Question Number : 8 Question Id : 630680161920 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Who was the first chairman of the steering committee of the Code for Responsible Lending (CRL) in micro-credit established in 2019?
Options :

1. % Sonia Krishnankutty

2. % Harsh Shrivastava

3. % Srinivas Bonam

4. % HR Khan

Question Number : 8 Question Id : 630680161920 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

é%%?ggﬁ, g&H ud gragid FHolTeaT ITREIIATITS T Hahd e (Code for Responsible Lending) (CRL) wgﬁ?ﬁ%{ ufgad siegel
?

Options :

1. % 1 HOTHE!
2. % BY Hlarad
3. % SR ==
4. % Ud, AR. LM

Question Number : 9 Question Id : 630680161921 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

According to National Multidimensional Poverty Index 2021 published by Niti Ayog, which of the following states has the highest
percentage of population deprived of drinking water (Uncensored Headcount: Drinking Water)?

Options :

1. % Manipur

2. % Meghalaya

3. % Assam

4. % Arunachal Pradesh
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Question Number : 9 Question Id : 630680161921 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

el ST gR TeHTRId Bom=aT ST Sg3mart TRet FERIi® (R Hee ISE=Md Ulac! Sead) 2021 THR, WIeleud! Sl
T Aihaeal qaifids cadb UTOATIREA dferd Jifgar g2

Options :

1. ¢ TR

2. % TG

3. % 3ANH

4. % FBUTE USR

Question Number : 10 Question Id : 630680161922 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

‘Blossom Shower’, one of the local storms of hot weather season is related to which of the following?
Options :

1. ® Mangoes

2. ¥ Coffee

3. # Rice

4. % Jute

Question Number : 10 Question Id : 630680161922 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

SATGH TTaR” B ST §AHTHTAT Hd YR RS dTees WIeTeie! BN Jafid smad?
Options :

1. % 3ffd

2. ¥ BB

3. % dige®d

4. % dll

Question Number : 11 Question Id : 630680161923 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Construction of Siyom bridge in Arunachal Pradesh was completed by which of the following organisations?
Options :

1. ¥ Border Roads Organisation

2. #% Indian Institution of Bridge Engineers

3. % Indian Railways

4. % National Projects Construction Corporation Limited

Question Number : 11 Question Id : 630680161923 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

3B YR RIaT Gar SieeT Wieierie! S T Hd g2
Options :

1. 7 & "aeHT

2. % 3feT 3fRege i siw gforerd

3. % MR ¥ed

4. % - Uoided R HRURTH fiffice

Question Number : 12 Question Id : 630680161924 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5

Match the following.
Different names of | States/UTs
‘Jhumming’
A. Pamlou 1. Madhya Pradesh
B. Dipa 2. Manipur
C. Penda 3. Andaman and Nicobar islands
D. Dahiya 4. Andhra Pradesh
Options :

1. ¥ A-2; B-3; C-4; D-1
2. % A-3;B-4;C-1; D-2
3. % A-4;B-1;C-2; D-3
4. % A-2;B-4;C-1;D-3

Question Number : 12 Question Id : 630680161924 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

AT ST S,
gt = TR A | U=/ e weer
A. OTFIS 1. 7T geer
B. fqmm 2. A
C. Yusr 3. AT HTOT
[ECocicdra
D. gfgar 4. =T 92T
Options :

1. ¥ A-2; B-3; C-4; D-1
2. % A-3;B-4; C-1; D-2
3. % A-4;B-1;C-2; D-3
4. % A-2;B-4;C-1; D-3

Question Number : 13 Question Id : 630680161925 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

In which of the following states are the ‘Tamladu’, ‘Sangken’, ‘Ojiyale’ and ‘Mopin’ festivals celebrated?
Options :

1. % Arunanchal Pradesh

2. % Karnataka

3. % Himachal Pradesh

4. % Goa

Question Number : 13 Question Id : 630680161925 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

WU B0 I AT, b, 3N Sfor M § Id WoR Hd Srard?
Options :

1. ¥ 3R axT

2. % HICH

3. % feuMad Ue™
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4. % T

Question Number : 14 Question Id : 630680161926 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

In June2022, two complementary loans of $500 million each were approved by the World Bank to support and enhance India’s health
sector, one of which will prioritize which of the following states?

Options :

1. % Assam

2. ® Arunanchal Pradesh
3. ¥ Meghalaya

4. % Manipur

Question Number : 14 Question Id : 630680161926 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

T 2022 T, YRATA 3R faHTi=a Terand Sfde sdb- AT faadedn Tad! $500 TSR & URE Hofdid THIRITaT
T HIUTT ST SFTHH SUTd ST

Options :

1. & 3{™H

2. % SBUTES USRI
3. Uy

4. % AIOTQR

Question Number : 15 Question Id : 630680161927 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following committees, in 1928, recommended that the Constitution should declare fundamental rights?
Options :

1. ¥ Nehru Committee

2. % Ambedkar Committee

3. # VKRV Rao Committee

4. & Kelkar Committee

Question Number : 15 Question Id : 630680161927 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

e Hayd SHfIHR Sex HR1ad =i FRIBRY, 1928 Areft, Wiefterte! Hiorar G- et gt
Options :

1. ¢ g% it

2. % 3MSSH A

3. % 8. &, 3R, 51 a it

4. % PHosH A

Question Number : 16 Question Id : 630680161928 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Eight friends named P, Q, R, S, T, U, V and W are sitting around a circular table facing the centre. R is to third to the right of S. V is third
to the left of Q. T is fourth to the right of Q. U is second to the left of V. P is to the immediate right of V. Who is sitting second to the left
of U?

Options :
1.& T
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2.¥ W
3.% S
4. % P

Question Number : 16 Question Id : 630680161928 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

P,Q,R, S, T, U, V 30T W O a7 316 o U1 a@ThR caaHiad caaredl haldhs dis deed a9d 3Ted. R 81 S T Ididhs
T R 3118, v 81 Q = STdiars fa=ar Rt 3118, T 8T Q &1 ISidiars el ™I 3. U 81 V =T STdidhs gu=l RITT 318,
P &1V A T SoTdIdhs 3118, OR U T SIdide ga=l VI HI0 §37a 3-a?

Options :

l.® T

2. ¥ W

3.% S

4. % P

Question Number : 17 Question Id : 630680161929 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Nine girls named K, L, M, N, O, P, R, S and T are sitting in a straight line facing north. More than three persons are sitting between R and
O. T is at one of the line ends. L is third to the left of K. Only two persons are sitting between O and S. N is fourth to the left of M. L is to
the immediate left of N. T is sitting at some place towards the left of N. S is to the immediate left of M. Who is sitting at fourth place to
the right of R?

Options :
l.® M
2.% S
3.¢P
4. % O

Question Number : 17 Question Id : 630680161929 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

K,L, M, N, O, P, R, S 301 T AT ATaT=AT 93, il StRabs dls B T AT S 3HTgd. R 0T O AT GE U8 3w
ot ST 3. T 8T <A1 UehT CIbTal 3TR. L 8T K T STl g (R 318, O 30T S 1 exFH $Hdes G- ekt a9l

3{Ted. N 8T M =1 STl g AT 318, L 8T N =1 A7d STdIdhs 3. T 8T N =1 STaldhs Hlat UebT RITTER 3178, S 81 M &1 @
SIS 3R, TR R T ISTAIh G NN RYFTER HI0T ST SATA?

Options :

l.® M

2.% S

3.¥P

4. % O

Question Number : 18 Question Id : 630680161930 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

A certain number of students are sitting in a straight line, all facing the north direction. Only 13 students are sitting between Rachit and
Maheep. Only 11 students are sitting between Abdul and Maheep. Kartik is sitting at one of the line ends. Shamak is at the 20th place
from the left end. Raj is sitting towards the left of Shamak, with five students between both of them. Rachit is sitting at one of the line
ends. Abdul is at the 27th place from the right end. Rachit is towards the right of Maheep. Shamak is sitting at the 8th place to the left of
Abdul. How many students are sitting in the line?

Options :
1. & 52
2.8 353
3.9 54
4. % 55
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Question Number : 18 Question Id : 630680161930 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

AP T el SIS dis He T I a9 M. Ierd M0 Hg i T e was 13 faamf sied. srsga Sifor

TEI9 g aeI $aes 11 faemdf eimed. Fifdes g1 AT Ut SIhTa e, WS 81 ST SabTdh g 20 T RITFIER 3. 1S 81

MG STATITSS ST SR AT G Grasiv] 3Tgd. IId <1 UhT SIhIa SUdl 318, 3fegd g1 ol Cldbldh g 27 AT

fgﬁmaﬂ%.ﬁﬁaﬁmwﬁﬁm.wawgﬁwswwaﬁmw@awwmﬁm
,

Options :
1. & 52
2.8 53
3.9 54
4. % 55

Question Number : 19 Question Id : 630680161931 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

IfR>H>K=Pand K=M > W =L > U <E, then which of the following is NOT correct?
Options :

l. % P<R

2.8 P=M

3. L<K

4. ¥ U>H

Question Number : 19 Question Id : 630680161931 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
R>H>K=P3MIK=M>W=L>U <E 3{d, @R Qeadd! & Irg 1gr?
Options :

1. % P<R

2.8 P=M

3.#% L<K

4. ¥ U>H

Question Number : 20 Question Id : 630680161932 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

In a certain code language, ‘NATION’ is written as XERRSM’, and ‘COURSE” is written as ‘“YSGIWV’. How will ‘FLAUNT’ be
written in that language?

Options :

1. # ERKXRY
2. % EPJYSY
3. ¥ EPJXRY
4. % EPJXRZ

Question Number : 20 Question Id : 630680161932 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

TohT AR HichTd HINd, ‘NATION’ 8 *XERRSM’ ¥, 30 ‘COURSE’ § *YSGIWV* 3 feifgel SId. TR el HicbTde HINd
‘FLAUNT’ § $Y fifgal s an

Options :

1. & ERKXRY

2. % EPJYSY

3. ¥ EPJXRY

4. % EPJXRZ
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Question Number : 21 Question Id : 630680161933 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Jatin is standing in a park facing southwest. Then, he turns 135° anticlockwise, followed by a 90° anticlockwise turn. After that, he turns
225° clockwise, followed by another turn 135° anticlockwise. Then, he finally turns 45° anticlockwise. Which direction is he facing now?

Options :

1. ® North

2. % Northeast
3. # Southeast
4. % South

Question Number : 21 Question Id : 630680161933 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

ST THT STF ABADBS Al B IHT 3TE. TR, Al SIS HIeaTa f[aeg [G]H 135° go5al, e dl ST
Hrear faeg faRM 90° g, QR a1 UeaTeS e HieaTe AR 225°, T51 UedTesTa Hleare favg f&R 1350 gesdl,
IR TSt Al SIS HICATA [a9G G 45° TSN R Tl AT Al BV [GRbs 3a?

Options :

1. ® 3R

2. ¥ 3

3. % Mg

4. % CI&Or

Question Number : 22 Question Id : 630680161934 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

A & B means ‘A is the wife of B’

A % B means ‘A is the brother of B’
A @ B means ‘A is the son of B’

A # B means ‘A is the mother of B’
A =B means ‘A is the father of B’

FH%G#M@Y % T @ S & X =K, then which of the following statements is NOT correct?
Options :

1. #% G is the wife of Y.

2. % T is the brother of K.

3. ¥ Y is the son-in-law of H

4. % S is the paternal grandmother of M.

Question Number : 22 Question Id : 630680161934 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

A & B T 3% A BT B < Ul 3R
A % B =T 37 <A BT B I HIS 3R
'A @ B T 37 ‘A BT B 91 G 318
A # BT 31 <A BB Tt 31 3R
A=BIEIY ‘AR BT IS 3R

H%G#M@Y %T@S & X = K 3, R WU S0 faur g gt
Options :

1. % GBY 91 Uil 318,

2. % TEIK 9 TS 3T5.

3.+ Y BT H 91 5148 3718

4. % ST M T TSI 3% TR,
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Question Number : 23 Question Id : 630680161935 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Given below is a question followed by three statements, I, I and III, each containing some information. Decide which of the statement(s)
is/ are sufficient/necessary to answer the question.

Question: Six houses labeled A, B, C, D, E and F are located in a colony. What is the straight distance between House-A and House-E?

Statements:

1. House F is 65 m east to House C, House A is 65 m west to House D.

II. House C is 85 m north to House E, House A is 70 m north to House C.
III. House F is 70 m south to House D, House B is 90 m west to House C.

Options :

1. % Statement I only is sufficient.

2. % Statement IT only is sufficient.

3. # Statement [ and II together are necessary.

4. & All three Statements I, I and III together are necessary.

Question Number : 23 Question Id : 630680161935 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

TTelt T Y d RATE 1, 11 3707 111 € i faem fedt aimed, udies faemid el wnfedh faelt o, wsm STk Svamdt v (o)
faum A qe=h/saxad med d BT,

UY : U1 gT8dId A, B, C, D, E 30T F IT ATaT=i TgT T 3MTed. TR-A 3101 TR-E iedTd TR Nard 3R fodt 3re?

faur:

LIRF W CATYI 65 m &R 38, TR A § TR D AT UHH 65 m R 31T
L8R C 8 TR E T ITRY 85 m I 38, TW A § TR C T ITRY 70 m TR 38,
[ TR F § TR D =T S0 70 m R 3T, TR B TR 8 C =T 90 m UTAHY 3178,
Options :

1. % Hax [ 1 Y 31T

2. v $Hdos faUM 11 Y 378,

3. % faum 1 30707 11 ST U SMaxaS 3R

4. % 1, 11 3707 111 ) g ! faem™ TanfAduur Smaxae 3ied.

Question Number : 24 Question Id : 630680161936 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5

Consider the following statement and decide which of the given assumptions is/are implicit in the statement.
Statement:Online education allows students to attend classes from any location of their choice. Additionally, online lectures can be
recorded, archived and shared for future reference and later use.

Assumptions:

I. Students can view the recorded content for revising the lecture.

I1. Online education does not allow the students to learn the content at a time of their comfort.

II1. Only geographically distant students can attend online lectures.

Options :

1. % Only I is implicit

2. % Only I and II are implicit

3. % Only I and III are implicit

4. % All 1, II and III are implicit

Question Number : 24 Question Id : 630680161936 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5

Treitet faem fammrd = snfor feaieamie! SBIvr/e ol Tetae ATeiad [AumId SRgd 3MTe/3iTed d 3.
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faum: sffars e, faemafr @it oS HIuAmg! RIFEE avid IURRIT AG0ITH TRAMN ad. 3ddd Fed ok,
SHTTeTS RS Yhie BT AdTd, AT JaTd ST Jerdt YGHITST ST ATORTTST ot —SR Hal 43> Xahdld.

Téa: 1. faanif emeTean Ioresufirat Yo 1S urg Y.

1. 3HTFars fRigrond fagmeafT ae At 3 RigurraTde TaTeT YT RIGUar tRar 9.
111 Hrfirdesear g U faenff @ Fraw SiTars - AR JufRd g Wehdd.

Options :

1. ¢ %aes faUH 1 3 gd 3iTe.

2. % Hacs faYM 1 31f01 11 SR 3MTed.

3. % hdos AT 1 30T 111 3RId 3MTed.

4. % 1, 11 30T 111 81 94 faem Srfgd oMmed.

Question Number : 25 Question Id : 630680161937 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

A statement is followed by three courses of action numbered I, IT and III. Assuming everything in the statement to be true, decide which
of the suggested courses of action (a decision to be taken for follow up /improvement in regard to the problem) logically follow(s) for
pursuing.

Statement:The residents of a housing colony have complained to the police about the rising cases of theft in the last two months.

Courses of Action:

1. All the police vans of the city should be deployed to this housing colony to prevent the cases of theft.

II. The police should be more vigilant in this area and should install CCTV cameras in this housing colony.

I11. The people residing in this area should also be involved through police-public partnerships to be more vigilant, and timely inform
about any suspicious person or activity.

Options :

1. % Only I and III follow
2. % Only II follows

3. % Only I and II follow
4. % Only II and III follow

Question Number : 25 Question Id : 630680161937 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

TS AU I @1ge 1, 11 ST 111 31 <1 e fe=m fewan smed. faumrd fedieh ad mifgeht Wt oitg 3 Teid eRT, fadeamiest Hiort
FHaTE =M (TG YU qH T RIangURINTS! fulg wi7aT) U RITe! dhaiTd 3iTg, d 3.

Ay : e 99 Ai=ATa Trede IR UHRUNEEd ayTgdidld edTRai-t Tiferdrd dshR bl

syt fe

1. TR U0 IRTUATITST RgRTci ot Gifor=ar =T Ml Yex aaTedid d-Td PHRIodTd.

1L T1 &1 Uiferi=t 31fies T Ta AT 1 Ieeitd CCTV HaR Sarad .
%@%ﬁwwmmﬁwm_wmwwmmmmmamw
Options :

1. % Hda 1 30T 11 dHITTT 3MTed

2. % HAS [ THIA 3T,

3. % o5 [ ATVT [1 THIITT 3MTed

4. ¥ Hgas 11 T 111 TH YT 3Rd

Is Section Default? : null

Question Number : 26 Question Id : 630680161938 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Questioning to all candidates of a given population is called:
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Options :
| g Sample

5 & Gallup poll

3.« Census

4. % Nielsen audit

Question Number : 27 Question Id : 630680161939 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
A gallup poll means:

(I) an assessment of public opinion by the questioning of a complete population

(IT) an assessment of public opinion by the questioning of a representative sample
Options :
| % Only (I)

5  Only (II)

3 % Both (I) and (II)

4w Neither (I) nor (IT)

Question Number : 28 Question Id : 630680161940 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

The classification of data by space or spatial belongs to which option?
Options :

| % Qualitative classification

,  Quantitative classification

3% Chronological classification

4  Geographical classification

Question Number : 29 Question Id : 630680161941 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Temporal classification is based on:
Options :

| s quality
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5 5 Quantity

3 o fime

4 y Sbace

Question Number : 30 Question Id : 630680161942 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
‘Less than ogive’ and ‘More than ogive’ of following data meet at:

4.6,6.8.5,0,9.5.0.7
Options :
l.% 5.0

Lh
(]

hd
)\
n
Ln

=

&
Ln
[=.2]

Question Number : 31 Question Id : 630680161943 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
A graph that uses a circular chart to display data visually is known as:
Options :

| % histogram

5 & Dbargraph
3 pie chart

4w frequency polygons

Question Number : 32 Question Id : 630680161944 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5

The Mean, Median, Mode respectively from the following data are:

43.48,38,54.,43,40,50,43,.35,48
Options :

1« (44.2,43.43)
(43.2,43.43)

2. %

(44.2,44,43)
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4 5 (44.2,43.543)

Question Number : 33 Question Id : 630680161945 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
The deciles-7 from the following data is:

10,50.,30,20,10,20,70,30
Options :
1. % 34

Question Number : 34 Question Id : 630680161946 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Population Coefficient of Variation from the following data is:

8,9,7,10,8,6

Options :
: 100
ﬂx
l. %
- x 100
64
2. %
: x 100
128
3.8
> x 100
192
4.

Question Number : 35 Question Id : 630680161947 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5
The arithmetic mean. geometric mean, and harmonic mean of 5,10.20 are:

Options :
35 10 60
Lv & Y
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351065
et

2. %

Question Number : 36 Question Id : 630680161948 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
The median of the following grouped data is:

[
1

Lh

h

Class -6 6-9 9-14

L
LS ¥]
I-J

Frequency |4

Options :

n

l. % 2

Question Number : 37 Question Id : 630680161949 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5
Let A, B, C be arbitrary events. Which option is INCORRECT?
Options :

|« PGANBNC)=P(A)P(BIAP(C|AN B)

) P(AnBnC)=P(A)P(B)P(C)

P(AUBUC)=P(A)+P(B)+P(C)—P(ANB)—P(ANnC)—P(BNC)+P(ANBNC)

3.8

P(AU BIC) = P(A|C) + P(B|C) — P(AN B|C)

Question Number : 38 Question Id : 630680161950 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Let X follow binomial distribution with parameter n = 10 and unknown p. If the skewness is

zero, then p equals to:

Options :
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1.x O

1

hd
#
[#%]

B =

Question Number : 39 Question Id : 630680161951 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
If the occurrences of the events follows Poisson process with mean rate 4 per hour, then inter-occurrence time follows:
Options :

| g Poisson distribution with mean rate 15 per hour

7 % Poisson distribution with mean time 15 minutes

3 Exponential distribution with mean time 15 minutes

4 3 Exponential distribution with mean rate 15 per hour

Question Number : 40 Question Id : 630680161952 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Given X~Normal(p = 2, 0% = 25) and Y~Normal(p = 4, 6% = 36) are two independent random

variables. The var(3X — 4Y + 5) equals to
Options :

—346
1. %

-351
2. %

3 801
4 % 806

Question Number : 41 Question Id : 630680161953 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
If P(A) =, P(B) = % and P(A N B) = -, then the value of P(B|4) is:

Options :
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3
56

2. ¢ 56

Question Number : 42 Question Id : 630680161954 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
A document is known to have received either from TATANAGAR or from CALCUTTA. On the cover, just two
consecutive letters TA are clearly visible. The probability that the document received from TATANAGAR is:
Options :
3

&
—

5
2.% 1

—_—

7
3.9 1

—

9
4.% 11

Question Number : 43 Question Id : 630680161955 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Let A and B are independent events such that P(4) = 0.63, P(B) = 0.34. The probability of occurrence of

at least one event is:

Options :

Question Number : 44 Question Id : 630680161956 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0.5
Suppose a factory is using a technology which produces bulbs with an average life of 1000 hours. The management is
likely to adopt the new technology only if it is trustworthy that the average life of bulbs produced by the new
technology exceeds 1200 hours. For testing the hypothesis. the problem is:
Options :

H,:p = 1200 and H,: i + 1200
1. %

Hy:p < 1200 and H,: pt = 1200
2. %

Hy:p < 1200 and H,: p = 1200
3.0%

Hy:p < 1200 and H,: p > 1200
4.¢

Question Number : 45 Question Id : 630680161957 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5

A random sample of 400 employees is found to have a mean weight of 65.38 kg
from a normally distributed large population with a mean weight of 65.17 kg and a
standard deviation of 3.30 kg, which is drawn to test the hypotheses of mean
weight at 95% confidence. The standard error of the sample mean is equal to:

Options :
1. % 0.2100

5 & 0.0105
3 % 0.0908

4 v 0.1650

Question Number : 46 Question Id : 630680161958 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
For the one-tailed two-sample F —test, the estimates of variance are s = 2.09 and s7 = 1.10. F statistics

is equal to:
Options :
1.+ 1.90

Question Number : 47 Question Id : 630680161959 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5
Correct Marks : 2 Wrong Marks : 0.5
Let the first sample of size n, = 9 be drawn from the normally distributed population with mean ¢, =3 and
standard deviation o =2. Let the second sample of size n, = 16 be drawn independently from the normally
distributed population with mean u, = 4 and standard deviation o = 2. Let X, X, be sample means, S,, S,
are sample deviations of two independent first and second random samples, respectively.

_ |es2+1es: (X,-3)—(X,—4) .
Ifs = J—zs ’then—l'h—i follows:

RV RET

Options :
L v t distribution with degree of freedom 23

b et distribution with degree of freedom 25

x? distribution with degree of freedom 23
3. &

x? distribution with degree of freedom 25
4. %

Question Number : 48 Question Id : 630680161960 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5

A sample of size 400 is drawn from a large population with mean 171.17 and
standard deviation 3.30 and sample mean is computed as 171.38. To test the
hypotheses about the mean H,: yp = 171.17 at 95% confidence, which option is
correct?

Options :

| Hiip=17117

Standard error of X = 0.125
2. %

3 g The value of test statistics is 0.125

The critical region is |z] = 1.96
4.

Question Number : 49 Question Id : 630680161961 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5

At significance level @ = 0.05, for the hypothesis testing H,: 57 = S7 vs §7 # 52
from the following two sample data 19,22.24.27,24,18,20,19.25 (¥, = 22,57 =10)
and 26,37,40,35,30,30,40.26,30,35.45 (X, = 34,57 = 38). the test statistic equals to:

Options :
1% 48

2. % 28
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19
3.4 O

10
4% 19

Question Number : 50 Question Id : 630680161962 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

A random sample is drawn from N(u, 02); 4, ¢* are unknown. Which of the following is the simple hypothesis?

Options :
| 5 Hop=2,0%=1
5w Hop= 2,02 <1

4 5 Hon=2,0%=1

Question Number : 51 Question Id : 630680161963 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5

A random sample of 50 articles is taken from a large batch of articles contains 5
defective articles. For determining the 95% confidence limits for the proportion (p)
of defective articles in the batch, the standard error of p is:

Options :

3V2
v 50

3v/2
7 & 100

342
3w 200

3v/2
4. % 400

Question Number : 52 Question Id : 630680161964 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Ram tossed a biased coin 40 times and got a head 15 times while Shyam tossed the same coin 60 times and got 35 tails.

The maxinmum likelihood estimate of the probability of getting a head when the coin is tossed is:
Options :
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[$aT N

2.¥

Question Number : 53 Question Id : 630680161965 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
To test Hy: o < 1200 vs H,: u > 1200 with level of significance @ = 0.05, we collect the sample of size
100 from the normally distributed population with unknown mean u and variance 100. The critical region is:
Options :

X =1200

1. %

X = 1200.645
®

, o ¥ 21201645

X = 1200

4. %

Question Number : 54 Question Id : 630680161966 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
From the following data, n = 4, ¥x = 24,¥y = 10,¥x? = 164,Yy? = 30,¥xy = 52, the equation of regression line
Yy on x is:
Options :
@ Y= 49— 0.4x

o = 4.9+ 0.4x

2

x =10 - 1.6y
3. %

x =10+ 1.6y
4. %

Question Number : 55 Question Id : 630680161967 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0.5
For the given data (x, y), the regression line equations are x +y = 2 and 2x + 3y =4 . The mean of x and y are:
Options :
1.v (20

(0,2)

Question Number : 56 Question Id : 630680161968 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

The estimated value of y at x = 4 from regression line equations from the data having
x =30,y =45,0, = 2,0, =3andr = 0.4 is:

Options :

1. 24.6

) w 26.6
3 % 274

4 294

Question Number : 57 Question Id : 630680161969 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
If the coefficient of determination is 64%o and the residual sum of squares is 1.80, then the total sum of squares is equal

to:
Options :
1% 48

2.+ 3.0

e

#®
Lh
(5]

Question Number : 58 Question Id : 630680161970 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

The correlation coefficient from the regression line equations x + y=1and x —y =1 is:
Options :

1w 1

23/39



5/29/23, 11:26 AM

1
2.82
1
3.8 4

4 « legression is not possible

Question Number : 59 Question Id : 630680161971 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
The number of ways to select a simple random sample of 5 packets of edible oil with distinet combinations drawn from

a carton of 20 packets is:
Options :
1% 20°

20x19x18x17x 16
2. %

20!
3 & 5!15!

20!
4. % 5!

Question Number : 60 Question Id : 630680161972 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
For systematic sampling, which alternative(s) is (are) correct:

(I) sampling involves selecting fixed intervals from the larger population
(IT) sampling divides the population into groups, then takes a random sample from each cluster

(IIT) sampling is a random probability sampling
Options :

| % Only I

) % Only IO

3« BothIand III

4 % BothII and ITI

Question Number : 61 Question Id : 630680161973 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5
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The statistic derived from the sample is:
Options :
i

4.¢ T

Question Number : 62 Question Id : 630680161974 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

The order of selected units in multistage sampling is:
Options :

| » USUs, SSUs, and PSUs

2 % SSUs, USUs, and PSUs

3.« PSUs, SSUs, and USUs

4w SSUs, PSUs, and USUs

Question Number : 63 Question Id : 630680161975 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

‘Choosing every 12% customer as they exit the store’ is the sampling method for:
Options :

| 5 Quota sampling

5 g Clustering sampling

3% stratified sampling

4  Systematic sampling

Question Number : 64 Question Id : 630680161976 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5

A linear systematic sample is drawn from a population of 30 units with sample interval of
4. An unbiased estimate of the population total is:

Options :

| % 30X (sample mean)

5 s 4 X (sample mean]
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3  sample total

4 5 4 X (sample total)

Question Number : 65 Question Id : 630680161977 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
For the method of collecting the data, which option is INCORRECT?

(I) Experimental research is primarily a quantitative method.
(IT) Interviews, focus groups, and ethnographies are qualitative methods.

(IIT) Surveys, observations, archival research and secondary data collection can be quantitative or qualitative methods.
Options :
| g Only (D)

) % Both (I) and (III)

3 % Both (II) and (III)

4 Neither (I), (II), nor (III)

Question Number : 66 Question Id : 630680161978 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Which of the following is NOT correct?
Options :

| g Convenience sampling: sample is taken from a group of people easy to contact

» 5 Quota sampling: sample involving individuals that represent a population

3 5 Showball sampling: recruitment technique

4« Stratified random sampling: population is divided into heterogeneous groups

Question Number : 67 Question Id : 630680161979 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which option is NOT a component of time series?
Options :

| % Secular trend

7 % Seasonal variation
Cyeclical fluctuation

3.8
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4 « Regular movement

Question Number : 68 Question Id : 630680161980 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5

The prices of different varieties of wheat (per kg) in two consecutive years are as follows.

Commodity VL-832 [ HS-365 | WH-147 | NP-200
Price (in 2020) 60 70 40 30
Price (in 2021) 70 60 48 27

By simple aggregative method, the net price changes in % is:

Options :

1. %

Net increase of 2% in price

,  Netincrease of 2.5% in price

4. %

Question Number : 69 Question Id : 630680161981 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Net decrease of 2% in price

Net decrease of 2.5% in price

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5

For determining the trend in time series, the Gompertz curve is:

Options :

| x ¥=atbe*
%=a+bcx

2.33}

3 g logy=a+bx®

4 logy =a+bc*

Question Number : 70 Question Id : 630680161982 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5
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For the year 2022,

Paasche’s price index from the following data is:

Commodities | Quantities | Price per Quantities | Price per
unit unit
2021 2022
2021 2022
A 3 2.0 5 2.5
B 4 2.5 6 3.0
C 2 3.0 3 2.5
Options :
| % 12176
» o 111.76
3 % 101.76
4 % 100.76

Question Number : 71 Question Id : 630680161983 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5

If ¥'poqe = 140, ¥pyq, = 230, ¥p,q, = 196, ¥'p,q, = 322, then the Fisher ideal index number equals to:

Options :
1.x 120

2 x 125
3. % 130

4 v 140

Question Number : 72 Question Id : 630680161984 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5
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From the following data, the Laspeyre’s price index for the year 2020 is:

Items | Quantities Price per unit
2019 | 2020 |2019 |2020

Apple |30 50 20 25
Banana | 40 60 25 30
Carrot | 20 30 30 25

Options :

1. % 100.36

) % 101.36

3« 111.36

4. % 121.36

Question Number : 73 Question Id : 630680161985 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
For the sales data, the fourth 3-vear weighted moving average with weight 1.2.1 is:

Year

]

Sales

4.9

4.9

6.0

438

Options :
1w 3.100

n
(]
[ ]
A

3« 5.650

Question Number : 74 Question Id : 630680161986 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
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For the following data of production of a rice factory, the estimate of the production in tons for 2023 using
the straight line trend with origin at the year 2019 by the least squares method

Cx = 0,¥x? = 28, Yxy = 56) is:

Year(X) 2016 | 2017 | 2018 |2019 | 2020 |2021 |2022

Production 76 87 95 81 01 06 00

(000 tons)(y)

Options :
1. % 86000

5 & 88000
3« 96000

4 % 98000

Question Number : 75 Question Id : 630680161987 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
From the following data, the Edge-Worth-Marshal index number for the year 2022 is:

Commodities | Quantities | Price per Quantities Price per unit
unit 2021
2021 2022 2022
A 8 2.0 6 4.0
B 10 5.0 5 6.0
C 14 4.0 10 5.0
D 19 2.0 15 2.0
Options :
1% 110.09
7 % 115.00
3 ¢ 120.09
4.« 125.09
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Question Number : 76 Question Id : 630680161988 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

National Account Statistics (NAS), an annual publication of CSO is also known as:
Options :

| White paper

vellow paper

pink paper

3.0%

4 y Dburple paper

Question Number : 77 Question Id : 630680161989 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

In order of the economy of the world, the position of India is:
Options :

| % third

.« fifth
3 g seventh

4 w tenth

Question Number : 78 Question Id : 630680161990 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
The method of census is (are) as follows:

(I) De facto method

(I) De jure method
Options :
| g OnlyI

Only IT
3 « BothIandII

4 % WNeither InorIl

Question Number : 79 Question Id : 630680161991 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5

The NSSO has four divisions:
(a) Survey Design and Research, (b) Field Operations, (c) Data processing, and (d)
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Options :
| g Finance Analysis

,  Economic Analysis

3 5 Planning Analysis

4 5 Consumer Analysis

Question Number : 80 Question Id : 630680161992 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

According to census 2011, the state with the lowest decadal growth rate is:
Options :

| v Nagaland

5 g Meghalaya

3 % Kerala

4 % Uttar Pradesh

Question Number : 81 Question Id : 630680161993 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

‘Milk and milk products’ is one of the 8 broad groups of:
Options :

|« livestock statistics

, 5 agricultural statistics

3 g economic statistics

4 y Torest statistics

Question Number : 82 Question Id : 630680161994 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Data on the landing of marine fish are collected by the:
Options :

| » ICAR-CIFE, Mumbai

» & ICAR-FRIC, Bengaluru

3 % ICAR-CIFRI, Guwahati
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4 v ICAR-CMFRI, Cochin

Question Number : 83 Question Id : 630680161995 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Factory Act is applied to all factories employing:
Options :

| « 10 persons or more when it uses power

20 persons or more when it uses power
50 persons or more when it uses power

100 persons or more when it uses power

Question Number : 84 Question Id : 630680161996 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Trade statistics are compiled and published regularly by the directorate of Commercial Intelligence and Statistics
(DCIS). DCIS headquarter is at:

Options :

1. % Mumbai

7 % Delhi
3.« Kolkata

4. % Chennai

Question Number : 85 Question Id : 630680161997 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
If the central mortality rate m,, = 0.2, then the probability of dying of a person between the age interval 40 and 41 is:
Options :

1

1w 11

2
2. ¢ 11

3
3.4 11
4

4. % 1
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Question Number : 86 Question Id : 630680161998 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

If the population of a tribe in town A in 2011 is 36 and 64 in 2021, then estimated the population of the tribe in town A
in 2016 is:

Options :

1.% S0

2.¢ 48

| E]

Question Number : 87 Question Id : 630680161999 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
The last census population of a particular locality is 1043. The emigrant, birth, and death data for the locality in a given
period are 4, 20, 13, respectively. If the current population is 1061, then the number of immigrants is:
Options :
1% 13

2. % 14
3. ¢ 15

4. % 16

Question Number : 88 Question Id : 630680162000 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
The gross reproduction rate is based on the following assumptions.

(I) No female children die till they attain the upper limit of child bearing age.
(I) The female population remains stagnant in spite of migration.

(II) The current fertility rate continues to hold during the entire period of child bearing age.
Options :

| % Both (I) and (II)

) % Both (I) and (III)

3 % Both (II) and (III)

4 AlL(T), (II), and (III)

Question Number : 89 Question Id : 630680162001 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5

If B, be the number of girls born to F; women of the age group x to x + n and S be survival rate (p,.) per

woman which is obtained by the life table for each age group, then the net reproduction rate is:

Options :

Fanaga (% X 5') X class interval of the age group

group
1. ¢

P,
g
Za!! age (B_ )
group 9
2. &

) X class interval of the age group

Fialinge (i) X class interval of the age group

prcsiciogin ;e
3. %

P r
i (B—'is) X class interval of the age group
g

group
4. %

Question Number : 90 Question Id : 630680162002 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5

If the force of mortality is u(y) = A, then the survival function S,.(t) is:

Options :
1% Al

) e—ﬁt

3.23':{

4w In(At)

Question Number : 91 Question Id : 630680162003 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5

Age group 15-19 |20-24 | 25-29 30-34 | 35-39 40-44
Female Population |24 35 44 32 30 27
Live births 2 3 4 4 3 2

The general fertility rate is:

Options :
1. % 77.75

35/39



5/29/23, 11:26 AM
) w 84.75

3 93.75

4w 98.75

Question Number : 92 Question Id : 630680162004 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Age group 15-19 | 20-24 25-29 | 30-34 35-39 | 40-44
Age specific 24 148 200 220 160 80
marital fertility rate

The total marital fertility rate per woman is:
Options :
| w 1.860

) w 2.460
3 % 3.960

4 v 4.160

Question Number : 93 Question Id : 630680162005 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

In a simple economy, for a component of the circular flow of income, which alternative is correct?
Options :

| s (D Factor payments. (II) Goods & Services, (III) Depreciation

, « (D) Factor payments, (II) Goods and services, (III) Spending

3 5 (1) Goods & Services, (II) Depreciation. (III) Spending

4 5 (D Factor payments,. (II) Depreciation. (III) Spending

Question Number : 94 Question Id : 630680162006 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
According to 2011-12 prices, the sector-wise descending order in contribution to Indian GDP is:
Options :

| Service Sector > Industry > Allied and Agriculture
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5 5 Industry > Service Sector > Allied and Agriculture

3 5 Service Sector > Allied and Agriculture > Industry

4 5 Industry > Allied and Agriculture > Service Sector

Question Number : 95 Question Id : 630680162007 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Net National Product (INNP) at factor cost is also known as:
Options :

|+ National income

» g National product

3 g Personal income

4 5 Personal product

Question Number : 96 Question Id : 630680162008 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

The difference between the gross domestic private investment and the net domestic private investment is the:
Options :

| % difference between NDP and national income

, « depreciation

3 5 unsolicited inventory changes

4 5 addition to capital stock

Question Number : 97 Question Id : 630680162009 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which one is NOT a method to calculate national income?
Options :
| % Product method

7 % Income method

3 5 Expenditure method

4+ Difference method

Question Number : 98 Question Id : 630680162010 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5

Depreciation equals to:

Options :
NNP
1. % GNP

» & GNP — NNP

NNP

3. % GNP

NNP
4. % GNP

Question Number : 99 Question Id : 630680162011 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
The Net factor income from abroad (NFIA) includes:

(I) Net compensation of employees
(IT) Net income from property and entrepreneurship

(III) Net retained earnings of resident companies abroad
Options :
| % Both (I) and (II)

Both (I) and (III)

3 % Both (II) and (III)

4 AlL(T), (II), and (III)

Question Number : 100 Question Id : 630680162012 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
From the table, the Gini coefficient equals to:

Fraction of income 0.03 |0.12 | 0.85
Fraction of 01 |05 |04
population

Fraction of richer pop (0.9 (04 (O

Options :
1w 0.447
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